Look at some of the fantastic work
* that was sent i by Year 5 last weekl

Hepaull bcav
2 Thinks Ao
it ham Skagw T her,

1R s Tip

Poem of the week, 12/6/20 | e ; qv Ta——— T

1. The poet is trying to communicate
about the way bees collect pollen
during the sunny day when flowers
open up to let the sun in (and
unexpectedly help the bees).

. The haiku is a type of Japanese poem j ¢ :

that was invented by Matsuo Basho, : i Joke answer
Yosa Buson, Kobayashi Issa and ; ‘ :
Masoaka Shiki in the 17th century.
However, it was only known as the
haiku by the 19th century.
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Maths Lesson 3, 11/6/20

1.3,000 2,000 3,000+2,000=5,000
The actual answer is 4,807
2. a) 10,000+30,000=40,000
b) 50,000-10,000=40,000
3. The highest approximation 912 can reach is
the 1,000s. Annie thinks that means 912 will
be multiplied by 1,000 making her think she is
adding 9,120. But the correct approximationis | [
1,000, as it is the nearest 4 digit number to o5
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ax*-11,000 ax*-11,000 ax* - 70,000 I Agpe, - - e
d) 9,811 <— ax* - 10,000 ! 2 : BT AT E

*ax= approximation 5 :




